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@7 * #E “Cache memory is o efficient despite its small size. The answer is dueto the
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Becomes a job Becomes a program

Job

Enters Memory

. Process

Get access to CPU >

Ready
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Time slot exhausted
I/0 satisfied I/O requested
. or an interrupt occurred | |
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void tower(int n, char start, char tmp, char end) {

if (n==1) {
printf("Move disk %d from %c to %c\n", n, start, end);
return;

}

tower(n-1, start, end, tmp);

printf("Move disk %d from %c to %c\n", n, start, end);

tower(n-1, tmp, start, end);

}
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polynomial-time solvable ~ NP-complete ~ unsolvable % #g %] o
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